
1 Errata 

Page 67, paragraph beneath Listing 3.11: The backtick symbol ` should be used.  

Page 80, Listing 4.1: The error in this code is mistakenly showing a syntax error, rather than an ownership 

error. The third line of Listing 4.1 should be as follows: println!("s1 is: {s1}"); // Error! 

Page 82, code sample, third line: The current code gives an error and will not compile. The correct code is 

the following: println!("s1 is: {s1}"); 

Page 83, Listing 4.2, fifth line: The current code gives an error and will not compile. The correct code is 

the following: println!("s2 is: {s2}"); // Error 

Page 97, paragraph beneath Listing 4.26, line 12 – 13: The line “As a result, some_data will be updated to 

a value of 42” is incorrect; it should read, “As a result, some_data will be updated to a value of 13”.  


